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There are two papers in the State Eligibility Test. The iirst question paper (compulsory question paper) is
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to be marked in the necessary entries. The examinee can start second question paper at 1:05 p.m. There are
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51. ^ ̂  ̂

piUchl "3^^^ 'iII^'hI ^ 1^

■^JT^ t i"

t ?

(A)

(B)

(C)

(D) "^3^- ¥31^

52. "I^lf^ ^ ̂

^ 3#^ '^' 1^ ^

'm^ f l" ^ ^

(A) "PTqT^

(B)

(C) 4iK<^u^

(D) ^3fe-

(3)S/29/2022/A

51. "Public Administration consists of all
I

those operations having for their purpose,

the fiillfillment or enforcement of Public

Policy." Who said this ?

(A) Woodrow Wilson

(B) Herbert Simon

(C) Willoughby

(D) L. D. White

52. "An identificable group of people

contributing their efforts towards the

attainment of goal is called

organization." Who said this ?

(A) Milward

(B) Gladden

(C) Max Farland

(D) Urwick

P.T.O.



53. I ̂  n ̂  "^TTKr chlRiiiJ^

■sfk "f^ stiHl'ch ^ ^iM-MVl

^  dTK "^PlM. :

(a) fe (1)

'^. o^cj^K

(b) V^. (2) =bl4Mird=bl ^

[qdl=il

(c) (3) <NHird T3^*

(d) (4) ^ 3RIRPT ^

(a) (b) (c) (d)

(A) (2) (1) (4) (3)

(B) (4) (1) (3) (2)

(C) (3) (4) (2) (1)

(D) (1) (3) (4) (2)

(3)S/29/2022/A

53. Match the List I with the List II and

choose the correct answer from the codes

given below :

List I List n

(a) Frank

J. Goodnow

(b) W. F.

Willoughby

(c) Chester

Bernard

(1) Administrative

behaviour

(2) The frinctions

of Executive

(3) Politics and

Administration

(d) Herbert Simon (4) Principles of

Public

Administration

Codes :

(a) (b) (c) (d)

(A) (2) (1) (4) (3)

(B) (4) (1) (3) (2)

(C) (3) (4) (2) (1)

(D) (1) (3) (4) (2)



54. "fer ^ ^ ̂

t ?

(A)

(B) "q, il4^HI^

(C)

(D) ItTTT^

55. 4il^fcN=*i ^ Wrf t :

(A) W fpik ̂  ̂ ̂

PH^nT ̂  TEff^HT

(B) mPT ^ TT#* ^

(C) -5^311 3ih: 3#T^T^*

(D) ^

{3)S/29/2022/A :

. 54. Whose concept of 'Span of Attention' is

related to the' principle of 'Span of

Control' ?

(A) Fesler

(B) V. A. Graicimas

(C) Seckler Hudson

(D) Dimock

• 55. Functional Decentralization is :

(A) The Central Authority ceding

specified decision making functions

to technical or professional bodies

or experts.

(B) Setting up the new levels of

Government

(C) Relationship between the head

quarter and numerous field

agencies

(D) Organization of Regional

Administration

P.T.O.



56. 'm 1^?^ ̂  -w\m

^ "^Twrrf^

f^rf^ "I" 1^RT^ ■3FT^ *^14

^ ̂ 3^ ^TfeR ^ 1^" ?

(A) .T3^' 17T^

(B) "Q?T. '^.

(C) ^tfe ■^. <l^H^«JlH

(D) WK

57, chln-Hl r^Q^ld 441^1 Pa ^

f ?

(A) ^ "fefcT

(B) 3T^ ^ fejcl

(C) ^

(D) ^

58. ^ PdMPdr^d ■^" ^
3TT^Pl<+i d'=tj41'=ti ^
"3^!^ i ■?

(A) oiwm-i "3^

(B)

(C) ^ 3T?3m

(D) "3^

(3)S/29/2022/A

56. Who said that, "Personnel management

is a method of developing potentialities

of employees so that they can get

maximum satisfaction out of their work

and give their best efforts to the

organization" ?

(A) Pigors and Myers

(B) M. J. Jucious

(C) David H. Rosenbloom

(D) Herman and Finer

57. Which one' is called the principle of

promotion ?

(A) Principle of efficiency

(B) Principle of opportunity

(C) Principle of seniority

(D) Principle of hierarchy

58. Which method of training is modem and

world wide followed ?

(A) Lecture method

(B) Syndicate method

(C) Case study method

(D) Training method



59. ^

Tpr ̂  t ?

(A) j^iidR^ ^184

(B)

(C)

■ (D) ^ 8JW

60. #13=1 k* 'WT* "^T^ ̂  ™

t ?

(A) ̂ lHlRl=h

(B) #1^

(G) -"^R^

(D) k*

61. 3TO A^'^A'xi ^

^ f ?

(A)

(B) "q. RR#.

(C) -f^r^

(D) 37R. 13^. 1^

(3)S/29/2022/A

59. What is the essential quality of

leadership adcording to Chester

Bernard ?

(A) Health and Physical Fitness

(B) General Education

(C) Personality

(D) Persuasiveness

60. The term Tine' is drawn fi:om where in

organization ?

(A) Social organization

(B) Military organization

(C) Government organization

(D) None of the above

61. Who is the author of the book "New

Patterns of Management" ?

(A) McGregor

(B) A. H. Maslow ,

(C) Rensis Likert

(D) R. N. Singh

P.T.O.



\

62. ?

(A) feRT

(B) ̂  3^: r^«sH

(C) "^8^ feRf

*  (D) 3#T^ 371^ "teRT

63. "te ^ 3T^ ^5^^'

iTTW^ :

1. ^3^*- mRhIUH

2. WT

3. 3R1i^At

4. -31^

■?T^ ^ ̂  WT :

(A) 3, 2, 1 (B) 1, 4, 3

(C) 3,2,4 (D) 1,2,4

64. cjil4'^i(lcrlOl. "4tT Pt+^RrlPsia ^

t ?

(A)

(B) "felT

(C)

(D) ^

62. Which theory was ushered by Herzberg ?

(A) Reward theory

(B) Carrot and Stick theory

(C) Path Goal theory

(D) Hygiene Motivation theory

63. According to Peter Dmcker organizational

objective criteria will be :

1. Quantification of objectives

2. Specific Goals

3. Undefined Goals

4. Consistent Goals

Select the correct code :

(A) 3, 2, 1 ' (B) 1, 4, 3

(C) 3,2,4 (D) 1,2,4

64. Who is the creator of efficiency ?

(A) Henry Fayol

(B) F. W. Taylor

(C) Chester Barnard

(D) None of the above

(3)S/29/2022/A



^ -^P^chlui ^TKcn

f ?

(A) M^hiiDddl, ^

ci«t>il<^i "HV^di "'TT cid

(B) WRH ̂ Rh<^m

(C) ^ ^ U.<^ldi<ui ak

IT

(D) ^ V:i'5l1irHch sftr 'wV-HCllSif

66. "Public Administratiori in a Time of

Turbulence (1971)" Rn^sil ^ ?

(A) fe

•  (B) "di^ir^

(C) qur^l

(D)

(3)S/29/2022/A

65. Which of the following points specified

the approach of* behaviour theory ?

(A) Stressed rationality predictability,

specialization and technical

competence

(B) Informal theory of Administration

(C) Emphasize the integration and

co-ordination of higher levels of

organization

(D) Give opportunities to the people to

use their abilities and creative skills

66. Who wrote "Public Administration in a

Time of Turbulence (1971)" ?

(A) Frank Marini

(B) Fredrikson

(C) Dwight Waldo

(D) Mosher

P.T.O,



67. -socr^ "9^^

^ "gTsJT Ri.si'^l "I :

(A) TT^ ^ TCR^

(B) =6l4Mo^rd ^ 4Hdi'l=b<ui

(C) odPcklJld 1W7T

(D) ti^Md ̂

68. tf^ ^ 37^^TR pHdlddl 3^

(A) ̂

(B) dJ^-di^l c^P?\d

(C) Bcqi^

(D) ̂

69. 3TOt •£[

^ Ri.&l'd TTt4^1Ph^ ttHT ^ ?

(A) fyP^Mtr^ 3TC AA'dA-e'

(B) ■'SITOT 8^^ 3fR) M.-^PMPd^iiH

(C) "qfel

(D) ^spT^ 1371^ H^PMpi^J^H

67. According to F. W. Taylor, the major

principle of Scientific Management is :

(A) Favour of Rule of Thumb

(B) Standardization of work methods

(C) Personal Interest

(D) Strengthen Field Headquarters

68. According to Rensis Likert Employer

and Supervisor should be :

(A) Job oriented

(B) Employee oriented

(C) Product oriented

(D) Goal oriented

69. In which . book Henry Fayol is

universalizing the theory of

management ?

(A) Principles of Management

(B) General Theory of Administration

(C) Personnel Management

(D) General and Industrial

Administration

(3)S/29/2022/A 8



70. ■ ̂  I ̂  n ̂
^ ̂ ■^- ̂  ̂

WT ^flf^ ' :

(a) ■Proft^ (1)

(b) •IpHltlRcl (2)

(C)

(d)

(3)■q^

WlFlt

#i3q (4)

^11
-y'qb'i

ch4-qi(l ^

MRnipJid

3lk 3xRqftef
^ t

WH aq^

■Rt^ t cIZTT
"3^ ^

aTRpf^ fen
"w 13^ "q^

1¥m

"Rife fefe

■qipf "qii "fefiqq

"R^ftfe
afhMfe

;  . ■H'IdHkM*

1  4i
1  Rri=b<i ^

WIFft

:
Codes :

1  (a) (b) (c) (d) (a) (b) (c) (d)
■  (A) (1) (2) (4) (3) (A) (1) (2) (4) (3)

(B) (2) (4) (3) (1) (B) (2) (4) (3) (1)
(C) (3) (4) (2) (1) (C) (3) (4) (2) (1)
(D) (4) (3) (1) (2) (D) (4) (3) (1) (2)

70. Match the List I with the List II and
select the correct answer from the codes
given below : i

(a)

List I

A pyramidal
structure

(1)

(b) An adapted
formal

organizational
structure

(2)

(c)

(d)

Defined but
participative
structure

Matrix
organization

(3)

(4)

List n

Each employee
has defined

power and
responsibility
in organization
Each employee

has equal
opportunity
and can have
more control
over what is
done in his
own sphere of
activities

Performed
limited routine

task

A modified
formal

organization
structure is

akin to Rensis

Likert's
participative
structure

(3)S/29/2022/A P.T.O.



71. "4* ^ ^ 37mR

"TC Rb-d "^T^^TFT ^iFwd Rt>'4l 'FIT

t?

(A) TT^ i "^f^STH

(B) TF^' WFT

(C) 'mi WFT "^IWT

(D) ^f^STFT

72, MKn "^f "f^T^ ^ ̂-VIRFT ̂  ̂

^FTFTT "W ?

(A) 2000

(C) 2003.

(B) 2001

(D) 2004

73. iiklchid ^ '1^' 3TR ̂

^  t ?

(A) "iM

P) fici-ylei

(C)

(D)

(3)S/29/2022/A 10

71. Which institute has been set up on public

and private partnership basis in

■ Hyderabad ?

(A) National E. Institute

(B) National Panchayat Institute

(C) National Institute of Smart

Governance

(D) National Police Institute

72. Which year was celebrated as

e-Govemance year in India ?

(A) 2000

(C) 2003

(B) 2001

(D) 2004

73. The 'Vishay' of Gupta period is similar

to which xmit of today ?

(A) Village

(B) Tehsil

(C) District

• (D) Division



74. ^ oiiici^iRcb

t ?

(A) #T c|MMeiR^ -qg

(B) ̂  oqici^iRcb -q^

(C) oMN^lRqi -q^

(D) oqN^iR^i "qsj

75. 11^ irofe 37PiRT srq^ 1^

■qf^qq ^ qft

^ Ti^ ^-"q^ "qkqr ^ ■^rrar-'^TTST

qq fen t ?

(A) q^ yPd-^qn

(B) yPd^qq

(C) ^qii^ciT -qMqq

(D) qpd«^qq

76. TT^ qftqq <i^dH
•qfws^ ^ ^ ?

(A) "RSIRq

(B) -5^. iq^qt
(C) 'i]^i41

(D) ■^.

{3)S/29/2022/A

74. Manu has given how many 'Vyavharic

Paksh' (Practical aspects) of judicial

process ?

(A) Three Vyavharic Paksh

(B) Four Vyavharic Paksh

(C) Five Vyavharic Paksh

(D) Six Vyavharic Paksh

75. In which report of the Second

Administrative Reforms Commission

conceptual structure of e-Govemance and

the national e-Goyemance plan and

knowledge management has been

discussed ?

(A) Ninth Repart

(B) Tenth Repart

(C) Eleven^ Repart

(D) Twelfth Repart

76. Who called National Development

Council as the super cabinet ?

(A) K Santhanam

(B) K. C. Niyogi

(C) D. Goswami

(D) H. M. Patel

11 P.T.O.



77. ^ ^

(A) 1919 (B) 1935

(C) 1941 (D) 1947

78. Tl^ ^ "Htl* STBlW ^

W t?

(A) srh^ifw (B) ■M<R4iki41

(C) ^TFIFT (D) 37^14

79. ^ ^

(A) 31^:^71

(B) 31^^^ 79

(C) 31^ 123

(D) 313^352

80. 1998 "^* ^ 31^^ cinQ^I

^ ^81 1%^

8Tt ?

(A) 22 (B) 21

(C) 20 (D) 19

(3)S/29/2022/A

77. Special Police Organization was formed

(A) In 1919

(C) In 1941

(B) In 1935

(D) In 1947

78. State level Vigilance Commission's

function is ;

(A) Formal

(C) General

(B) Advisory

(D) Mandatory

79. According to which article of the

Constitution the President is an integral

part of the Parliament ?

(A) Article. 71

(B) Article 79

(C) Article 123

(D) Article 352

80. With how many parties did Shri Atal

Bihari Vajpayee form the Government in

1998 ?

(A) 22

(C) 20

(B) 21

(D) 19

12



81.

wcm "TO «Tr ?

(A) 2^5^^ 256 (B) 37^^^ 168

(C) aqf^3n (D) 313^194

82. "aRr

3ti<^i41 t ?

(A) ^ iMMlci

(B) ̂  ̂ -gTsqrNt

(C)

(D) Tf^ ̂  1^?7H "afw

83. PiMRiRsid '^* ^

•=1^ t ?

(A)

(B) 1^ ̂  ^

(C) ^ Rbt^ Pi^^ii

'^<'11

(D) MRi Rt^ ̂

(3)S/29/2022/A 13

81. Under which article of the Indian

Constitution the provision was made for

having two Houses of State Legislature ?

(A) Article 256 (B) Article 168

(C) Article 311 (D) Article 194

82. The State Council of Ministers is

collectively responsible to the :

(A) Governor of the State

(B) Chief Minister of the State

(C) Legislative Assembly of the State

(D) Legislative Coimcil of the State

83. Which among the following is not a

function of the Secretariat ?

(A) Policy making

(B) Framing rules and principles of

procedure

(C) Control and directing the Council of

Ministers

(D) Exercise of financial control >

P.T.O,



84. ̂  ^ 1799 "4*

^ ̂kFT feET^ W ?

(A) ̂

(B) ciM

(C) ̂

.  (D) ̂  ■feJNi

85. "fer^ TRTRq^ <k4MH 37q^ "^T ^

^ "^TOl f ?

(A)

(B) WT^

(C) TS^

{D) M

86. *WT WTsi* ^ OT

"W 81T ?

(A) iWTI TTT^lt

(B) wrt M^TPT^

(C) 3^4^^

(D)

(3)S/29/2022/A 14-

84. The office of the Chief Secretary was

created during the British rule in 1799

by:

(A) Lord Curzon

(B) Lord Wellesley

(C) Lord Hastings

(D) Lord Metcalfe

85. The Governor of a State holds his office

during the pleasure of the :

(A) Chief Minister

(B) Prime Minister

(C) President

(D) Home Minister

86. Who conceived the concept of 'Gram

Swaraj' ?

(A) Mahatma Gandhi

(B) Swami Vivekananda

(C) B. R. Abedkar

(D) \%ioba Bhave



87. PlHRiRsid ^ ^

'SUcTT "t ?

(A) im im TRtajur

(B) ̂ eigsoter imRH

(C) "m w??T ̂  T3^ Mot

(D) TITSliM 1^

88. 73^* OTt^ (1992) ■^*

"^f IX 'W, "SRT

WRT ^ ;

(A) ^OTRH

(B) WT

(C) TIPM ^

(D) WlfT

89. M#tMt "^r ^ ^ Iott^ ot

Mtt ^iRn "I" ?

(A) ^ ̂

(B) xnsHtto -nfcTMrar

(C) wm -^m

(D)

(3)S/29/2022/A 15

87. Which one of the following is not a

function of the Panchayat Samiti ?

(A) Account and Auditing

(B) Administration of Community

Development programme

(C) Control and Supervision over

village Panchayats

(D) Primary Education and Health Care

88. The 73rd Amendment Act of 1992 has

added Part IX to the Indian Constitution

which is entitled :

(A) Local Self-Govemment Institution

(B) Village Governments

(C) Rural Government

(D) The Panchayat

.89. Which one of the following is not

performed by District Collector ?

(A) Collection of Land Revenue

(B) Political Activities

(C) Social Welfare

(D) Law and Order

P.T.O.



90. 1977 -terr ^

.  ̂ ^ «ft ?

(A) WT "wm

(B) W

(C) M-MI-Md

(D) Tf^TO

91. ^ "SrWFT "qJT

g,<nncHct) o(iiHi ^IRIT, ̂  ̂

"iRIRH ̂  fq^ii "qjT *\icn oWdi

.  ̂ I" 1^ t^5H

^ t ?

(A) ̂  1^

(B) ^

(c)

(D) Tfof^

92. ^\-dHkHd>-HdiNfrMd) ^

3RTRH ^ ̂ ̂ fer^ ̂STRTT t ?

^  (A) cilddiTd "TORT

(B) *fe

(C) qitrsl

(D) ^

90. In 1977, Ashok Mehta Committee

recommended for the establishment of :

(A) Gram Panchayat

(B) Nagar Panchayat

(C) Mandal Panchayat

(D) Panchayat Samiti

91. "As long as the study of Public

•Administration is not comparative,

claims for a science of public

administration sounds rather hollow."

Which scholar has stated this ?

(A) Woodraw-\Wlson

(B) Fred Riggs

(C) Nimrod Raphaeli

(D) Robert Dahl

92. The credit for introducing structural-

functional approach in Public

Administration goes to whom ?

(A) Talcott Parsons

(B) Fred Riggs

(C) Dwight Waldo

(D) Merian Levi

(3)S/29/2022/A 16



93. "te "Sro

wm ̂  "5?%^ hP^hh "^'

•m 7

(A) ytoiH

(B) wiR^ "yf^

(C) yPd^H

(D) ̂ FStR-"^^ yfd^H

94. ^ 3RTRH ̂

"^IHT ?

,  (A) WT^

(B)

(C)

(D) "^. (hci

95. "fe? ̂  yVlWiddi

wm' ̂  ^ ?

■  (A) (B) wyn

(C) TTO (D)

96. PHHr^nsid ^ ^

pMdlH^ "HHT t 7

(A) (B) ̂  "fe

(C) "fe (D) ̂ ?Tf2

(3)S/29/2022/A

93. In which model was the structural-

functional approach first used by Fred

Riggs ?

(A) Agraria-Industria Model

(B) Prismatic Model

(C) Fused Model

(D) Bazar-Canteen Model

94. Who considered bureaucracy as a

'rational system' of administration ?

(A) Finer

(B) Max Weber

(C) Michels

(D) J. S. Mill

95. Which country's administrative system is

termed as 'living organisation' ?

(A) America (B) Japan

(C) France (D) Britain

96. Who among the following is considered

as the Father of Development

Administration ?

(A) Weidner (B) George Gant

(C) Fred Riggs (D) Dv^ght Waldo

17 P.T.O.



97. -JPRI ^ ̂  ^ ̂  ̂ ̂ .

(A) (B)

(C) (D) "sWi^

98. ^ ̂  ■;^^* ^ ̂  pHMRriR^d

^  2Rm TR ^ "sn^ t ?

(A) 1f2^ c(j|<il^ci

■  (B) tfiTiJ^

(C)

ff>)

'TPTW ^ yPdJF^M ■^" t ?

,  (A) % 315^

(B) ^niiT 4R4)«m

(C)

(D) ^

100. sr^f^ ^ "Rsf^T t :

(A) ^

(B) ^ ^ ̂  ̂

(C) KW ^ PH^P4d ^

(D) ^^mrnW ^ Ph^Pw

(3)S/29/2022/A 18

97. Public Services in France are called :

(A) Cadre (B) Comrade

(C) Corps (D) Prefact

98. On which basis are the salaries of Civil

Servants fixed in Britain ?

(A) Whitley Council

(B) Fulton Formula

(C) Ashton Committee

(D) Priestley Formula

99. Which of the following is not a form/

format of public-private partnership ?

(A) Service contract

(B) Joint venture

(C) Disinvestment

(D) Lease

100. 'Spoil System' in America is related

with:

(A) The election of the President

(B) The recruitment of Civil Servants

(C) The appointment of Ministers

(D) The appointment of Judges



101. sfrc srfWpw

(T3;qr.3qrc'^.'(5ET.TT) ^ 3rp%,

^ -m^ "^f. 1^ wi ̂

fT«ife "TO i ?

(A) ^ ̂

(B) ■sit.-^.-qt. ^ ̂  "ETi^ ^

3% ^ ^ wn

^ (C) ■^rt.^.it. ^ TR^iW^ ^

—  - - 4% - "^- ^.^sirii -

(D) ^ ^ ̂

5% ^ T^

102. TOT Tf 1^ ^ TRger

R)<hi "w 5?t, «t)"sO^ sSk xi^ t^i<l

3^5R^ cti<l y.ctn<j)ci ^

1^ ?TRT ^ ?

(A) ^ ̂  (^."it.i^??.)

(B) xrmi^ ^ 13^* ^ (■sTt.-qxi.'^.)

(C) 371^ ^ (^.zt.)

(D) Tim ^ 1<?R

(3)S/29/2022/A 19

101. Under the Fiscal Responsibility and

Budget Management Act (F.R.B.M.A.),

what is the mandated target for the

government to achieve in terms of the

fiscal deficit ?

(A) Elimination of Fiscal Deficit

(B) Keeping fiscal deficit below 3% of

GDP

(C) Keeping fiscal deficit below 4% of

GDP -

(D) Keeping fiscal deficit below 5% of

GDP

102. Which significant tax reform in India

was introduced to replace multiple

indirect taxes at the Central and State

levels with a unified tax structure ?

(A) Tax Deduction at Source (TDS)

(B) Goods and Services Tax (GST)

(0) Income Tax (IT)

(D) Direct Tax Reforms

P.T.O.



103. ^ *3^ w t ?

(A) "^TRR i^

(B) XP?^ XR^* ̂  X^RTcrar

^PtHfcia =f>R!T XRW ̂

1^ 'ft "STO ̂

(C) ̂  XRqPR OT XFTT^ ̂  ̂ Xfft

^>ft yHMlHl et)<-ll ^ftx =iiqcl XRT

X^ "qx sqrt^ #TT

(D) fer sftx ^ ̂ RTR#* Tft*

3k XFJ2T XR^" XT^ 3k

XR^ ̂

104. XR^ ^ ■qiskRT "3^ ^ t ?

(A) 37Tfe X?^ sk "toRT ^ 1^
"^RIT «l'l'll

(B) 3k tft^FTRt ^ ̂
tkft^ ^Rqi

(C) XRTO ^ "nfftfMMf 3k ^?rM ̂
%T XRIRRf ^ 3^1^ ^ i^ikl

"RRrfR^RTTR ftRftfXcT ^R^T

(D) XTT^sif^ +c^|ui ^ «2ih -ft ^ X^

^ ̂  XTSRR XRI?" ^ 3Tf%I^RR "^RTTT

(3)S/29/2022/A 20

103. What is the primary objective of fiscal
federalism ?

(A) To centralize all financial powers at
the federal level for more effective

governance

(B) To ensure that State Government
have complete fiscal autonomy
vrithout any interference fi-om the
Central Government

(C) To eliminate all taxes imposed by
the central government and rely
solely on state-level taxation

(D) To promote collaboration and
co-ordination between the Central

and State Governments in matters

of finance "hnd taxation

104. What is the primary purpose of
Government budget ?

(A) To create barriers for economic
growth and development

(B) To increase inflation and control
unemployment rates

(C) To allocate resources and set
financial priorities for the
government's activities and
programmes

(D) To maximise tax revenue collection
without considering public welfare



XI

105.

^ Hot t ?

(A) ^ o^IMkT ^

(B) ̂  ̂ OT«f^

^ERH ̂  "tI

(C) witHi^ ?>i4sti*il

■qr ^<c+)i<l

73^

106. ■^' "qflOT •Hl«I^Pi<TJ 1^

TT^ "g^ "3^ "I ?

(A) snfe" qfTwq alk

^HHdl ^ ylc^lHd

(B) ^ ̂  3qfeHTT

(C) ^ ̂  ̂

(D) ^

105. Which of the following is considered as

a part of gvemment revenue ?

(A) Taxes collected from individuals

and business

(B) Subsidies provided to support the

agriculture sector

(C) Expenditure on social welfare

scheme

(P) Government spending on

infrastructure projects

106. Which of the following is a key objective

of Public Finance ?

(A) Promoting economic growth, social

welfare and equity

(B) Maximizing government debt

(C) Minimizing taxation

(D) Achieving a balanced budget at all

times

(3)S/29/2022/A 21 P.T.O.



107. N=t)K ̂  -dEjlHOI "^f ^<c+)K

?Rr Tjnf t sfk

^smR "^aqf ̂

<"HlRl=t) "3#^ ̂  ^ ̂

^iPMd ̂  ■3Mt f ?

(A) "S^FT

(C) "stta

.  (D) ^e^^ilO 3^fHdl

108. 1991 "^f ^ ̂  Tif 'tm ̂  ̂  snf^RT

^ I^Fffefer 1^ t ?

(A) oi(oi=h< <i£il^il ^

"^HFTT

(B) 3T«Joq^^ IK oqiiRT ^<chKl MbPT

^ MlrHlP^d

(C) Ph41^<u|, ^ycnct><u| ^

nl^llecl ^iT3T

(D) "Sim "qr ^ "SlflR^

mHT

107. Which form of public enterprise iiivolves

complete ownership and control by the

government and is often established to

perform essential service or manage

strategic industries ?

(A) Joint Venture

(B) Public-Private Partnership (PPP)

(C) State-owned Enterprises

(D) Cooperative Enterprises

108. Which of the following was a significant

feature of India's New Economic Policy

(NEP) implemented in 1991 ?

(A) Increasing import tariffs to protect

domestic industries

(B) Encouraging extensive government

control over the economy

(C) Promoting liberalization,

privatization and globalization

(D) Imposing strict restriction on FDI

(3)S/29/2022/A 22



109. ^ "^f

^^l^tldl ^ ^ t ?

(A) oqRd'ld ^

'41^ yc^dd ^ifdd

(B) idu. f^Ttln

(C) ^ ̂  ̂ "4'

3TOHsfeT

(D) Wd ̂  "3^^ sfk ^ TIRI

110. "#133 "SWd ̂  "smfe

^ t ?

(A) Hldi<vil^1 ^ ̂HM1 ^
6*G1CJ|

(B) ^ ^ qi seih

qjw sik feilq id^duiT ̂  3Tq^

(C) qn

^PdHl^d q^dT sSk ddKlPqc^

ylrHlP^d qJTdT

(D) fTTjfq ^ ̂ ̂*sO<t)d q^RT alk
hk^Rioi ^ q>q qiM

{3)S/29/2022/A

109. In the context of organization or public

institutions, what does the problem of

autonomy refer to ?

(A) The challenge of striking a balance

between central control and

individual decision making

(B) A lack of financial resources to

sustain operations

(C)' The inability to hire qualified

personnel

(D) The difficulty in achieving the

organisation's mission and goals

110. What is the primary significance of

financial administration in an

organization ?

(A) To increase bureaucratic processes

and paperwork

(B) To focus solely on profit generation

and disregard financial control

(C) To ensure efficient management of

financial resources and promote

accountability

(D) To centralize decision making and

reduce transparency
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111. f. # 3T^

HHIR^T ̂  %tt oqrro ^?TiTR ^

t  l" ̂  MR-Him

OT ̂  "nf t ?

(A) ̂

(B) 3T5T^

(C) sTf^k

(D) sten

112. RFiRTfecf -4* ^f^mr -qR*

(A) ̂ lHl[^=tj Ri^l'^

(B)

(C) Rt^

(D) d<iRi=bl^R^^WciKl Rt^

113. ^tiRcitq ^ffWT ̂  wmr R '^hmcikV

^Tq'NN R "qiT ot

^ qqr «TT 3SR tro ̂  R ?

(A) 41^ 1976

(B) 1976

■  (C) 43'^'^f^m 1977

(D) 44^^5ff^«IB "miRn, 1978

111. "A Welfare State is a state which provides

for its citizens a wide range of social

services." This definition is given by :

(A) Kent

(B) Abraham

(C) Arthur Schlesinger

(D) Odem

112. Which of these is not a theory of 'social

change' ?

(A) Social theory

(B) Conflict theory

(C) Cyclical theory

(D) Evolutionary theory

113. The word 'Socialist' was added into the

Preamble of the Constitution of India by

which Amendment and in which year ?

(A) 41st Amendment, 1976

(B) 42nd Amendment, 1976

(C) 43rd Amendment, 1977

(D) 44th Amendment, 1978

(3)S/29/2022/A 24



114. ^

t ̂  m 1^ #Tlf ^

■  1%tit 1^ ^ ^trJ

"I* I "I* :

(A) ̂ r^=b

^  (B) "SfTO^T

(C) Tl^ ^ #T3^

(D) ̂  ^ TFB^

115. 'ST^gM ^ ̂ TRftTT qK^f :^*

3I2R 1Nr1^ "gRT cTSiTT "f^Rd "W ?

(A) -m^ 1933

(B) ■^. m. 371^^, 1937

(C) ^RtWh, 1935

(D) W 37Mwt, 1919

114. 'Help-Age India' and 'Age Care India'

are organisations working nationwide for

the cause and care of the elderly people.

They are :

(A) Voluntary organisations

(B) Constitutional organisations

(C) State Government organisations

(D) Central Government organisations

115. The term 'Scheduled Caste was first

coined by whom and when ?

(A) Mahatma Gandhi, 1933

(B) B. R. Ambedkar, 1937

(C) Simon Commission, 1935

(D) Government of India Act, 1919
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116.

^  #1T ! {NhIRic^ etenR

^ TO ^ "TO^ TO

•37T«^R '^* Wlfro (rllctid-^ H l" ■2T?'

^TSFT t^JTOT t ?

(A) TT^RiTT ttM

(B) a^R:

(C) -q:^. %?;

(D) 1^ ̂  ̂

117. ^ "f^ ^^RcT

<i<^hRi ^ WiTfro a^ "^tei"

^  "sfN

^  3TFTtTT* ^

^ ̂ ̂  t ?

(A) ai3^^340

(B) ai^^^ 341

(C) ai5=E^342

(D) 315^343

116. "We must make our political democracy

a social democracy as well. Political

democracy caimot last unless there lies at

the base of it social democracy." Whose

statement is this ?

(A) Mahatma Gandhi

(B) B. R. Ambedkar

(C) J. L. Nehru

(D) Subhash Chandra Bose

117. Which article empowers the President of

India to appoint a 'Backward Classes

Commission' to investigate the

conditions of the socially and

educationally backward classes ?

(A) Article 340

(B) Article 341

(C) Article 342

(D) Article 343

(3)S/29/2022/A 26



U8. ^ PcichcriHIdl ^

31?^ lag^sT ^ "^f ̂  TP^ t I

1^ ■#f8Tr3fl tioqurt^

'  ■ fHdl^i^ :

1. ^R^otiR^cil 1el^ (a) ctA^chidi

"^jWT

2. (b)

P^+dm

3. fqct>elMI (c) R^ct,^y.|qi(^

Tl^ Tr^«TH

4. (d) -gRf

^ •

(A) l-(a), 2-(b), 3-(c), 4-(d)

(B) l-(c),2.(d),3-(a),4-(b)

(C) l-(d), 2-(c), 3-(b), 4.(a)

(D) l.(b), 2-(a), 3-(d), 4-(c)

(3)S/29/2022/A 27

118. There are 4 National Institutes in each

major area of disability under the

Ministry of Welfare. Match the 4

institutes with their headquarters

location.

1. National Institute (a) Kolkata

for Orthopaedically

Handicapped

2. National Institute (b) Dehradun

for "Visually

Handicapped

3. National Institute (c) Secunde-

for Mentally rabad

Handicapped

4. National Institute (d) Mumbai

for Speech and

Hearing

Handicapped

Codes :

(A) l-(a), 2-(b), 3-(c), 4-(d)

(B) l-(c), 2-(d), 3-(a), 4-(b)

(C) l-(d), 2-(c), 3-(b), 4-(a)

(D) l-(b), 2-(a), 3-(d), 4-(c)

P.T.O.



119. ^ srar

'sw^ ̂  37^^ 3imr ̂ ^ttM

t 1 -qf t :

(A) ̂  R^kh1 ^

(B) TTHfel %m

(C) ^ ̂ WfiK ̂

(D)

120. w "^f ^ -^whV 1^

^ OT ̂  t ?

(A)

(B) ̂  -rom ^

(C) ^

(D) -^51^ STFltTT

119. The best option for disaster management

is to emphasize upon disaster

preparedness rather than curative

measures. These are :

(A) Establishing monitoring centres in

the country

(B) Preparing vulnerability map of the

country

(C) Modifying the house types in

vulnerable regions

(D) All of the above

120. '•Warning of floods' in India is issued by

which agency/ministry ?

(A) Home Ministery

(B) Water Resource Department

(C) National Institute of Hydrology

(D) Central Water Commission
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121. ^ ^ ̂  RnrdRsld

^  t :

1. dldidTd^ f

2. dUdlPd wnr ̂  ^

■qfiTTTFT ^ t

3. dUdlPd ■'n ^

Wdt t ̂  HdiKlrHd)

4. dldidlld'HT ^<chKl fHdii^ TJcf

3^=tiiR<il ^RT fqctjRia "^T^ ^

t

(A) 1, 2, 3 3lk4 (B) 1,2^4

(C) 2, 3 3lk 4 (D) 1, 2 3k 3

122. dl4>Hlfd ^ ^ ^ IdHPdP^d

1. '^' ijjf

2. PidiM "^iRif 1^

3. didRiiel "fen

4. "TORHf ^ ̂  Wk ^ 1^

^  ̂ WT :

(A) 1, 2 3k 3 (B) 2, 3 3k 4

(C) 1, 2 3k 4 (D) 1, 3 3k 4
(3)S/29/2022/A 29

121. The following formulas help us to

understand the meaning of Public

Policy:

1. Public policies are goal oriented

2. Public policies are the result of
' collective actions of the

Government

3. Public policies can be either

poMtive or negative in nature

4. Public policies are not developed by

government bodies and Government

officials

Choose the correct code :

(A) 1, 2, 3 and 4 (B) 1, 2 and 4

(C) 2, 3 and 4 (D) 1, 2 and 3

122. The following statements are important

"about the. importance of public

policy :

1. To give shape to the constitutional

provisions

2. To set goals for development works

3. To give directions to dictatorship

4. For proper utilization of resources

Choose the correct option :

(A) 1, 2 and 3 (B) 2, 3 and 4

(C) 1, 2 and 4 (D) 1, 3 and 4

P.T.O.



123. ctil-i'tii

t ?

(B)

(D) "^f^^iW/^WR

124. elUHlPd ^ 1^ ̂

t ?

(A) RTfR "q;^* mim

(B)

(C) cbi4m[d+i Rmrf^

(D) ^

125. PdHPelfed ^ ̂  "3^

^3^ ̂  l^pimr t ?

(A) t^iUfeiT

(B) =t)i44ifei=hi

(C) ̂  -RT

(D) aM^

{3)S/29/2022/A 30

123. Which is not an approach of Public

Policy ?

(A) Logical Positivism Approach

(B) Participatory Approach

(C) Normative Approach

(D) Constitution Approach

124. What is necessary for the implementation

of public policy ?

(A) Adequate Personnel and Financial

Resources

(B) Administrative Capability

(C) Support of Legislature, Executive

and Judiciary

(D) All of the above

125. Which of the following does not play an

important role in policy making ?

(A) Legislature

(B) Executive

(C) Public Opinion

(D) International Agencies



126. iiWJR ^ 3i^K

^  ̂ "5^mx^ t ?

(A)

(B) tTlf^ a^sq^ wm

(C) "f^TOT

(D) "^^TrRidl^ hIRi^

127. fHMfdRdd ■? ^ dldiHlPd ^ ^

^hli/Hi ycfiK '^PlMei

fer t ?.

(A) yfst)*!! ^^I'chd

(B) ^Ri^t)

(C) TMof ^(r4ld)H

(D)

128. IIRt ^ aR«iIRqT ^

afiT qi®! [^<11 7

(A) cii^<^<n 1951

(B) ^1951

(C) 1950

(D) ^ 1950

126. Providing opportunity of employment is

an example of which type of policies ?

(A) Regulatory Policies

(B) Subtantive Policies

(C) Distributive Policies

(D) Redistributive Policies

127. Which of the following is not one of the

type of public policy evaluation provided

by D. Lemer ?

(A) Process evaluation

(B) Ethical evaluation

(C) Impact evaluation
<3

(3)S/29/2022/A 31

(D) Comprehensive evaluation

128. The concept of Policy Sciences was

developed by whom and when ?

(A) Lasswell 1951

(B) Dewey 1951

(C) Lasswell 1950

(D) Dewey 1950

P.T.O.



129. [qsiM Hlfd "^TFUf^Ri"

^ mV\^ w^ -m^ ̂  "51^

1%^ ̂  MR"Hir^a "^iT^ y-Hi^T

^ ̂  ^ ^en t ?

(A) ̂ TRT^ (B) ̂

(C) (D) Rn-S«a3lTH

130. ̂  ̂ ^ 3TT??R -qr ̂

Rl^lMdlit W t ?

(A) fpW ̂

■5m#* # Trf^ t

(B) iR^iK Tf R^cl ^

(C) "^ira^ ^ M«it

^tmnl ^RT "tN# ^ ■f^rfef

HMlRdi ^

ff)) "sq^ ^

131. 2008 # i--^m^ i{ RiMHrifed

^ ^ ̂  t ?

(A) G^G (B) G^C

(C) G^E (D) G^A
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129. Which Scholar describes policy science

as a discipline for producing and

applying socially relevant knowledge ?

(A) Lasswell (B) Dror

(C) Hogwood (D) Lendblom

130. What are main features of policy analysis

culture based on writings of Dror ?

(A) Technical experts who are sensitive

to the ethical implications of

decisions

(B) Close cooperation between

researchers in Government

(C) An informed citizenry to fend off

the antidemocratic spectre of an

expert ruling class

(D) All of the above

131. Which of these was not a part of policy

of e-Govemance of 2008 ?

(A) G to G

(C) Gto E

(B) G to C

(D) G to A



132. ^ ^

.  (A) 3WR

(B) -lik^ ^dnfcT

(C)

(D)

133. "?tR# 1^

^  ?

(A) 1947

(B) 1977

(C) 1997

(D) 2017

134. ""JS

1M4 ̂  ^

Rksii ?

(A) sTHT

(B) A<ei1 fii"Sei

(C) ̂

(D)

132. Which cominittee made the

recommendation for establishment of

Central Vigilance Commission ?

(A) Ayanger Committee

(B) Gorwal Committee

(C) Appleby Committee

(D) Santhanam Committee

(3)S/29/2022/A

133. In which year Rajya Sabha formed an

ethics committee in India ?

(A) 1947

(B) 1977

(C) 1997

P) 2017

134. "Good Enough Governance : Poverty

Reduction and Reform in Developing

Countries" was written by :

(A) Paul Brass

p) Merilee Grindle

(C) James Anderson

(D) Robert Dahl
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135. ^

"^^ft "Rl WJ^ ?

(A) 1980

(C) 1992

(B) 1981

(D) 1993

136. HMiR^ (3^?^)

(A) 1950

(C) 1955

(B) 1953

(D) 1957

137. 3^

Rtry^ [ei<a1 ?

(A)

(B) ̂  1W:

(C)

(D)

138. 'm f^ "W WMT ̂

%! t ?

(A) C = R + D - A

(B) C = (M + D) - (A + I + T)

(C) C = M + D

(D) C = (^ + D)-(A + I)
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135. In which year World Bank introduced

"Good Governance" on developing

countries ?

(A) 1980

(C) 1992

(B) 1981

(D) 1993

136. Central Civil Services Rules (Conduct)

were made in which year ?

(A) 1950 (B) 1953

(C) 1955 (D) 1957

137. Who wrote the book "The Rise of The

Network Society" ?

(A) Manuel Castells

(B) John Pierre

(C) Kevin Smith

(D) Stephen Goldsmith

138. Which is the formula for corruption

given by Robert Klitgaard ?

(A) C = R + D - A

(B) C = (M + D)-(A+I + T)

(C) C = M + D

(D) C = (R + D)-(A + I)



139. ^ ^ ^

?

(A) ■

(B)

.  (C) l=l^t

(D) cKMi^q

140. 3T!^ ^ Pi^RiRaci ^ "^FRft

3;TT#M dM^«:Kl "I ?

(A) '^jm ̂

(B) iTfl^3Jf ̂  ̂TFlfW H 17PHT

(G) 31^* ̂

(D) <h^ ̂  ̂Ri=t> ^I'Hi

141. PHHRinsld .-^f t ^

Mi ̂ -siff t ?

(A) 3riS2m ^ "3^

(B) R^'lRld

(C) ̂ xRWaif ̂  odPdddd ^siTORt

(D)
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. 139. Indian Penal Code's draft was prepared

by whom ?

(A) Curzon

(B) Macaulay .

(C) Monroe

(D) Clive

140. Which of these is not a correct criticism

of Aristotle ?

(A) Supporting slavery

(B) Denying citizenship to women

(C) Denying citizenship to disabled

(D) Regarding state as a moral

institution

141. Which one of the following points is not

included in the popular report ?

(A) Objective of the study

(B) Methods employed

(C) Personal information of the

respondents

(D) .Result-
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142. fHHRiR^d ^

^  ̂ t ?

(A) ^ #TT

(B)

(C) 'Mm

(D) ^

143. "RTS^Tc^ ^ -tTzrhr "R^SRT

Pi*^RnRsici ■^' an ?

.  (A) Tf^

(B) im

(C) ^

(D) "3^ sk ^

144. Pj^-if^Rao ."^ <lH=bQ^Hia^f ^

VIlfHei ^ t ?

(A) f^VcjUH

(B) ■3H=t>crH'ii "f^TRW ■^*

(C) ^«2T ^ -3^

(D) fe^fdT ^ aiRTR

142. Which one of the following is

not a characteristic of uncontrolled

observation ?

(A) No use of equipments

(B) No prior planning

(C) Observation at will

(D) Repetition possible

143, Who among the following first used

focused interviewing ?

(A) Robert K. Merton

(B) P. V. Young

(C) Stuart Chase

(D) Goode and Hatt

144. Which of the following is not included

in the limitation of hypothesis ?

(A) Perfect confidence in hypothesis

(B) Bias in forming hypothesis

(C) Limited nature of data collection

(D) Basis of scientific principles

(3)S/29/2022/A 36



' ... .1
I'

n  '
I

■t I

f;i :

I:

n-

K,

145. ^

"^Tf! 5lM

■qtriT ?

(A) ^37^ ^

(B)

(C)

(D)

146. rHHfansid ^ ^ ^
^ ̂  t ?

(A) ^

(B) 3#I^ aT^^^FFT

(C) MwPT ^

(D)

147. ^IHlto 375?f^- '^'
3IF^ 'Wqicll "t ?

(A) ^ ^

(B) 3bM^ M^Pd^ ^ Wk ^

(C) ^PddMd ^ 37mR m M=;nqcnl
qi<.=ti

(D) ^TSFiaTf ^

145. Who said, "There is no shortcut to truth,

no way to gain knowledge of the

universe except through the gateway of

scientific method."

(A) Stuart Chase

(B) Karl Pearson

(C) Chester Bernard .

(D) Lundberg

146. Which of the following is not a merit of

Sampling method ?

(A) Saving money

(B) More depth study

(C) Special knowledge required

(D) Management related convenience

147. How can a researcher achieve objectivity

in social research ?

(A) Through interview

(B) Using empirical methods

(C) By making questionnaire based on
personal views

(D) By analysing events
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148, ^ "^T^rar 'ofcjTrpf' ̂

^  ̂ t :

(A) aiRictr 4^ld

(B) Phjihh

(C) m^Ri

(D) "^ftTwrf^ 'q;gj^

149. f^F#i1W "^TT^ITcTO TrflrfsT ^

(A) iwmfe

(B) 'wm^ ̂

(C) ^ 3T?7T^

(D) ^

150. Pi*-iRiRaa "^pnfer ̂  i^itf^

^ I^TRf^ 1^ f ?

(A) it. it. iq

(B) Rlcbc[.

(C) 8?^

■  (D) itqri^
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■ 148. The method understanding the 'present'

with the help of the 'past' is called :

(A) Logical method

(B) Deductive method

(C) Inductive method

(D) Historical method

149. Which of the following is limitation of

interview technique ?

(A) Faulty memory

(B) Lack of verification

(C) Lack of reliability

(D) All of the above

150. Who among the following has developed

a scale to measure social distance ?

(A) P. V. Young

(B) Likert

(C) Thurstone

(D) Bogardus
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